G HORN









Sovereign MKIII Assembly Instructions

COMPONENTS DESCRIPTION QTyY COMPONENTS DESCRIPTION |QTY
cl| 8w Cam Bolt 30mm 46
= Insert Holder 1
c3 < Cam @15mm 42 .
c4d % Cam @15X10mm 4 —2——=a——> | Lifter Rail (Right) 1
dl| Dowel @8 x 30mm 48 || e=—=———= | Lifter Rail (Left) 1
c2 Q) Cover 46
s1 [ Screw @4x14mm CS zP | 56 Lifter (692mm) 1
s2| o= Screw @3x14mm CSZP | 24
s3| Gum- Screw ©3.5x20mm CS zP| 10 @ Ramp 3
s4| G- Screw @4 x 25mmC/S | 8 ' @ Equalizer 2
sh| @ Screw ﬂ3.§ X 30mm 8 % Door Plate 5
g2 @ Gate Leg Button 1 :
g1 Castor Washer 9 Q Swivel Tray Bracket| 2
t2 ® Castor @50 6 % s Shatgery: 1 1
% Door Shelf (Right) | 1
1 Castor @50 Lockable 2 :
Large Bucket (Tinted) | 1
13 & Castor @50 Extension | 4 "ge Bucket (Tinted) _
B &~ Castor Spanner 1 Swivel Tray (Ass.) | 2
L2 & Lock Striker 1
A Cotton Reel Insert | 2
L1 Lock & Key & Escutcheon 1 Pin Cushion Foam | 2
_Q;;~ > .
h3 %5 ButtHkge 2 Basket Insert 1
h2| < Flush Hinge (52mm) 6
h4 % Flap Hinge 3
b2| Q== Handle Screw 4
) Bow Handle 2
d [ = Door Hook (125mm) 2
‘@ Glue Bottle 2 Sovereign MKIll Page 1




Sovereign MKIIl Assembly Instructions

Sovereign MKIIl panels and their descriptions
Note: Hole position helps with panel orientation

©

Back

5

]

b
Before assembling
place 2 to 3 drops of
glue in each dowel hole.

Do Mot place glue
in Cam or Cam Boll
holes.

Large Door

End Right

Division Large  Division Small

| R -

Drw Side L. Drw Back Drw Sid

(2 Sets of each)

Cam)

Shelf

Q@

eR

@

Drw Front (x2} Drw Bottom (X2) Lifter Board

Caddy Back  Caddy Front

a
Caddy End

Caddy Bottom Caddy Top/Flap

Cam Bolt {x11}

<2

Ramp (X2)

D
Screw 53 @3.5 x 20mm (x4)

Assembly Steps

1. Screw the Cam Bolls into the
Top panels as shown.

2. Fix the Ramps to the Top
using Screw 53 @3.5 x 20mm

1. Top / Flap Pre-Assembly

SOVEREIGN MKIIl Page 2



Cam Bolt (x11}

Insert Holder

Screw s1 @4 x 14dmm (x2)

Assembly Steps

1. Scraw the Cam Bolts into the
Bottorn Panel as shown,

2. Fix Insert Holder to the Botlom
using Screw s1@4 x 14mm

Sovereign MKIIl Assembly Instructions
2. Bottom Pre-Assembly '

Cam Boit

&

Dowel @8x30mm (x4)

’/) ~
-

Cam @15mm (x4)

RIH Lifter Rail

Screw 51 24 x 14mm (x3)

Cam Bolt {x2)

Assembly Steps

1. Screw the Cam Bolts Into the
Bottorn Panel as shown.

2. Place 2 to 3 drops of glue
into each dowel hole and
Insert the Dowels.

3. Insert the Cams ensuring
the arrow paints to the
closest edge

4, Screw R/H Lifter Rall onto End|
using Scraw s1 @4x14mm

Note:
Lifter Rail will be level with the

panel end.

3. End Right Pre-Assembly

Screw s1
@4x14mm C/S

Right Hand
Lifter Rail

Cam Bolt

Note:
Arrow on Cam points
towards the closest edge

Cam @15mm

@8x30mm

SOVEREIGN MKIIl Pags 3



Sovereign MKIIl Assembly Instructions

4. Small Division & Shelf Pre-Assembly

Note:
Arrow on Cam points
fowards the closest edge

Dowel @8x30mm (x10)

L/H Lifter Rall

[
Screw s1 @4x1dmm (x3)
=S

Cam @15mm {x8)

Assembly Steps

1. Place Cams [nto holes shown.
Ensure the arrow on the Cam
points to the nearest edge.

2. Insert Dovigls with 2 1o 3
drops of Glle into the
Divislon dowel holes.

3. Scraw on LH Lifter Rall using
Screw s1 @dx14mm CS

4, Insert Dowels with 210 3

@8x30mm

drops of glus Into the Small
Shelf dowel holes @8x30mm
Note:
Rail will be level with panel edge
ﬁ 5. End Left Pre-Assembly
Note:
@8x30 Arrow on Cam points
RO ) towards the closest edge
)
Cam @15mm {x4)
CamBal02) Cam @15mm
Assembly Steps

1. Screw the Cam Bolls inlo the
End Laft Panel as shown.

2. Insert Cams ensuring the
arrow points to the closest
edge as shown,

3. Insert Dowels with 2to 3
drops of Glue into holes

6. Large Division Pre-Assembly

Dowel @8x30mm (x6)

>

Cam @15mm ({x6)

Lock Striker

Nota:
Arrow on Cam points
towards the closest edge

-
Screw s1 @4x14mm (x2)

Assembly S

1. Insert Dowels with 210 3
drops of Glue In sach hole.

2. Place Cams inlo holes shown,
Ensure the arrow on the Cam
points to the nearest edge.

3. Fit the Lock Striker using
Screw 51 @dx14mm C/S

Screw s1
Bdxtdmm &

SOVEREIGN MKIll Page 4



Sovereign MKIIl Assembly Instructions

&

Dowel @8x30mm (x8)
(&)

Cam @15mm (x10)

Cam Bolt (x4)

Assembly Steps
1. Screw the Cam Bolls into the
Back Panel as shown.

2. Place 2 to 3 drops of glue
into eaich dowel hole and
Insert the Dowels.

3. Insert the Cams ensuring
. the arrow points to the

closest edge

7. Back Pre-Assembly

Dowel
@8x30mm

Cam Bolt

> Note:

Cam @15mm

///

Armrow on Cam points
towards the closest edge

Assembly Steps

1. Place 2 fo 3 drops of Glue
in the dowel holes of the
Small Division.

2. Insert the Small Shelf into
the Small Division,

3, Place 2 to 3 drops of Glue
In the dowel holes of the
Large Divislon.

4. Insert the Small Shelf into
the Large Division assembly.

8. Cabinet Assembly

Small
Division

80 MKl Page 5



Sovereign MKIII Assembly Instructions

Assembly Steps

1. Place 2 to 3 drops of glue
in the dowels holes in the
Back.

2. Locate and fit the Small Shelf
& Small & Large over the
dowel holes in the Back &
inser. Turn the Cam a half
turn clockwise to secure.

3. Place 2 to 3 drops of glue
in the dowels holes in the

9, Cabinet Assembly

L/H End & RH End. Z
4, Locate and fit the L/H End P()
& R/H End over the dows! i
holes In the Back & Insert. e S
Turn the Cam a half tum
clockwise to secure.
(ID A, Insert
V, Cam Bolt
A
B. Half turn
Clockwise
to Tighten. s
10. Cabinet Assembly
B. Half turn
Clockwise
to Tighten.
Assembly Steps

1. Place 2 to 3 drops of Glue into
the dowel holes in the Bottom.

2, Position the Cam holes in the
LM End & R/H End & Large
Divislon & Small Divislon &
Back over the Cam Bolls In
the Bottom and insert. Secure
by turning the Cam a half turn
clockwise,

MKHil Page &




Sovereign MKIII Assembly Instructions

Lifter (692mm)

[
Screw 51 @dx14mm (xd)

Assembly Steps

1. Locate the Lifter on the Lifier
Board and secura using
Screw s1 @4x14mm CS

Note: Make sure the Lifter
and Lifter Board are
orientated as shown

11. Lifter & Lifter Board Assembly

Note: Lifter orientation on lifter board.

Screw s1
@4x14mm

Lifter Board Assembly

Assembly Steps

1. Position Lifter guides over
Rails and gently slide the
Lifter into position.

Note;

Ensure all 4 plastic guides
(2 on each side are
positioned comeclly over the|
ralls. Check the orientation
with the illustration.

SOVEREIGN MKIIl Page 7




Sovereign MKIII Assembly Instructions

Assembly Steps

1. Loop Cable through Metal
Tab on Lifter Rails and
Ssecure,

2. Push Lifter down and click
into first stop position.

Note:

When the Lifter is clicked into
this first stop position a small
block of imber will disengage
from the rear of the Lifter.

13. Lifter Cable Attachment

Lifter Rail

Cable

1. Place 2 to 3 drops of Glue

Discard block
14, Top & Cabinet Assembly
B. Half turn
clockwise
to tighten
Assembly Steps (@ D

in the Dowel holes in the
Top & Flap assembly.

2. Position the Cam Bolts in
the Top Panel over the Cam
holes in the Ends & Divislon|
& Back and Insert.Secure by
turning the Cams a half tum
clockwise,

3, Rotale Cabinet onto s
Back and then Top carefully|

Note:
It will require 2 people to lift
and rotate cabinet onto its top

SOVEREIGN MKIIl Page 8




Castor @50mm (x5}

Washer (x5)

&7

Spanner

Assembly Steps

1. Place Castor Washer over
Castor thread and screw
into Bottom and secure
using the Spanner.

Sovereign MKIII Assembly Instructions

15. Castor Attachment

Butt Hinge (x2)

)

Castor @50mm

o
Screw 51 @4 x 1dmm (x6)

Assembly Steps

1, Tap in Gate Leg Bution

2. Screw on Hinge using
Screw 51 @4 x 14mm

3. Screw on Castor.

Screws1
@4x14mm C/S

Butt Hinge

Note:

Tap Castor Bracket into the
pre-located hole on the edge
of the Door before fixing the
Screws.

SOVEREIGN MKIIl Page 9




Sovereign MKIIl Assembly Instructions

[

Screw 51 B4x14mm (x6)

Assembly Steps

1. Fix Gate Leg to the back of
Cabinet using
Screw s1 @4x14mm CfS

2, Swing Gate Leg against Back

3. Roll Cabinet back over onto
Castors

Note:
It will require 2 people to it
and rotate Cabinet safely.

17. Gate Leg Assembly

S
Screw 53 @3.5 x 20mm (x2)

Screw &1 @4 x 14mm (x9)

Assembly Steps

1. Screw on Flap Hinge using
Screw s1 @4 x 14mm C/S

2. Screw on Ramp using
Screw 53 @3.5 x 20mm C/S

18. Back Flap Pre-Assembly STEP A

Screw s1
@dx14mm

Flap Hinge

Screw s3
©3.5%20mm C/S

SOVEREIGN "MK Page 10



Sovereign MKIIl Assembly Instructions

G
Screw s1 @dxidmm (x9)

Assembly Steps
1. Fix the Back Flap to the Cabinel
using Screw s1 @4x14mm C/S

19. Back Flap Assembly

Screw s1
@4x14mm

Flush Hinge 52mm (x3)

Door Plate {x2)
Castor @50mm Locking

Door Hook (125mm)
[
Screw 51 @dxtdmm (x5)

-
Screw 52 @3x14mm (x6)

Equalizer

Assembly Steps

1. Screw on Flush Hinge using
Screw 52 @3x14mm C/S

2. Screw on Castor (Locking)

3. Screw on Equalizer using
Screw s1 @dx1dmm C/S

4, Press fit Door Hook in place,

5. Screw on Door Plates using
Screw 51 @4x1dmm CIS

20. Small Door Pre-assembly

STEP 3

STEP1

Screw s2
@3x14mm

STEP 2

Screw s1
D4x14mm

Door
Plate

Note:
Tap Castor Bracket info the

pre-located hole on the edge
of the Door before fixing the
Screws.

SOVEREIGN MKII Page 11




Sovereign MKIIl Assembly Instructions
21. Large Door Pre-assembly

Castor @50mm (Locking) S
< ¥ @3x14mm
Flush Hinge (x3)

Door Hook (125mm) into the hote In the edge
o of the Door before
Screw s1 @dxi1dmm (x1) Inserting screws.

[
Screw s2 @3x14mm (x6)

h
Screw s3 @3,5 x 20mm (x4)

Assembly Steps

1. Screw on Flush Hinge using
Screw 52 @3x14mm C/S

2. Screw on Caslor @50mm

3. Screw on Equalizer using
Screw s1 @4xi4mm CIS

4, Screw on Lock using

Screw 53 23.5x20mm C/S
5, Press fit Door Hook in place.

22, Large Door Shelf Assembly

Door Shell {Lefl)

Dii
Door Shelf (Right)

G-
Screw s4 B4 x 25mm (xd)

Assembly Steps

1. Screw on Left Hand and Right
Hand Door Shelves using
Screw s4 @4 x 25mm.

<

Swivel Tray Assembly (x2)

Assembly Steps

1. Insert Swivel Tray assembly
into the Left Hand and Right
Hand Door Shelves

SOVEREIGN MKIIl Page 12



Sovereign MKIIl Assembly Instructions

24, Swivel Bracket Assembly

Screw s4
D4x25mm

Swivel

Swivel Bracket (x2)

-

Screw s4 Bd4x25mm (xd)

Assembly Steps

1. Press fit the Swivel Bracket
into the base of Swivel Tray
assembiles and secure to
the Door using
Screw s4 @4 x 26mm

Screw s1
@4x14mm

Large Bucket
i 2

Screw s1 @4x14mm (x6)

Assembly Steps

1. Position'the Large Bucket
and secure using
Screw s1 @4x14mm CIS

G

Scraw 52 @3x14mm (x12)

Assembly Steps @3x14mm

1. Fit Small & Large Doors to
Cabinet Ends using
Screw s2 @3x14mm

Note:
Fit Screws Into pre-drilled
holes and secure

SOVEREIGN MKIH Page 13



Sovereign MKIIl Assembly Instructions

Bow Handle (x2)

Handle Screw (x4)

D

Escutcheon

Assembly Steps

1. Press the Escutcheon
into the Large Door.

2. Locate and secure Handles
o the Large & Small Doors
using the Handle Screws
supplied.

27. Fitting Door Handles

Assembly Steps

1. Open Doors and swing Flaps
onto top of Doors.

2. Extend and insert the Door
Hooks into the holes
In each Flap. This will
secure the Doors and Flaps.

3. Lock Castors

Note:

Doors must ba open and in place
before Flaps are opened and
positloned on Doors

Door.

Make sure the Door Hooks

Under no circumstances must the
Door be closed without first closing
the Flaps. Damage will almost

certainly be caused to the Flap and

are

engaged into the Flaps when the

cabinet Is open.

SOVEREIGN MKIll Page 14




Sovereign MKIIl Assembly Instructions

oT__m

Cam Bolt (x4)

Assembly Steps

1. Screw the Cam Bolls into
he smaller holes in the Top
panel as shown.

29. Caddy Top & Flap Pre-Assembly

Cam Bolt

~
<

=
Cam @15mm (x12)

Dowel @8x30mm (x12)

@I
Cam Bolt (x4)

Assembly Steps

1. Press fit Cams into the Back.
Ensure the arrow on the Cams
points to the nearest edge.

2. Place 2 to 3 drops of Glue in
the Back holes and insert
the Dowels.

3. Press fit Cams into the RiIH
& L/H Ends, Ensure the
arrow on the Cams points
to the nearest edge.

4, Place 2 to 3 drops of Glue in
the dowe! holes and Insert
the Dowsls.

5. Screw the Cam Balts Into
the smalier holes in the LIH
End and R/H End as shown

30. Caddy Ends & Back Pre-Assembly

SOVEREIGN MKIIl Page 15



Sovereign MKIIl Assembly Instructions

Cam Bolt (x4)

Assembly Steps

1. Screw Cam Bolts into the
smaller holes in the Bottorn
panel as shown.

31. Caddy Bottom Pre-Assembly

Cam Bolt

S

Drawer Handle

Assembly Steps
1. Place 2 to 3 drops of Glue into
the dowel holes in the Bottom.
Locate the Cam holes in the
L/H & RfH Ends over the Cam
Bolls in the Boltom and insert.
Secure by rning the Cam a
half turn clockwise.
Slide the Back Inlo the groove
located in the Ends making
sure the Belge side is on the
Inside face.
Place 2 to 3 drops of Glue into
the dowel holes in the Top.
Position the Top and Flap
Assembly Cam Bolts over the
the Cam holes in the Ends and
insert. Secure by turning the
Cam a half tumn clockwise.
. Place 4 to 5 drops of glue onto
the Drawer Handle and press
fit in the L/H Caddy End.

(o

w

o >

32. Caddy Assembly

B. Half turn
Clockwise
to Tighten.

SOVEREIGN MKIIl Page 16



Sovereign MKIIl Assembly Instructions

Castor @50 Extension (x4)

Castor Washer (x4)

Assembly Steps

1. Rotate the Caddy onto its
back. This may require 2
people to perform safely.

2. Place Castor Washer over
the Castor thread and screw
into Caddy Botlom. Secure
uslng the Spanner,

33. Caddy Castor Assembly

Cam @15x10mm (x4)
Dowel @8x30mm (x4}

8w
Cam Bolt (x4)

Assembly Steps

1. Place 2 to 3 drops of glue
In each dowel hole In the
Drawer Sides and insert Dowels.

2, Screw the Cam Balts into the
Drawer Front as shown.

3. Insert Cams into the Drawer
Sides ensuring the arrow
polnts to the front edga.

Note:
Arrow on Cam polnts
towards the closest edge

Cam Bolt

[I=rn
Screw s5 @3.5x30mm (x8)

Assembly Steps

1. Secure the L/H & R/H Drawer
Sides to the Drawer Back using
Screw 55 #3.5x30mm

2. Slide the Drawer Bottom Into
the Drawer Side groove,

3. Locate the Drawer Front and
secure by turning the Cam a
half turn clockwise.

4. Locate the Drawers on the
runners and slide into the Caddy.

2. Half turn

SOVEREIGN MKIN Page 17




Sovereign MKIIl Assembly Instructions

36. Fitting the Caddy

Assembly Steps

1. Position the Caddy In front of
1he cabinet and carefully lift
the Caddy Flap. Locale the
Caddy Flap Rollers in the
groove in the L/H End and
Division and gently slide the
Caddy Into the cabinet.

37. Fitting the Caddy to Door

Assembly Steps
1. Ensure the door is open with
the cabinet flap secured with
the Door Hook and the
Castor locked,

2. Position the Caddy in front of
the Small Door and carefully
fift the Caddy Flap. Locale the
screws In the Caddy Flap End
into the Panel Connector and
genlly press down o secure,
Ensure both screws and panel
connects are engaged.

SOVEREIGN MKIll Pags 18






	mkiii-manual-a5-pg1
	mkiii-manual-a5-pg2
	mkiii-manual-a5-pg3
	mkiii-manual-a5-pg4
	mkiii-manual-a5-pg5
	mkiii-manual-a5-pg6
	mkiii-manual-a5-pg7
	mkiii-manual-a5-pg8
	mkiii-manual-a5-pg9
	mkiii-manual-a5-pg10
	mkiii-manual-a5-pg11
	mkiii-manual-a5-pg12
	mkiii-manual-a5-pg13
	mkiii-manual-a5-pg14
	mkiii-manual-a5-pg15
	mkiii-manual-a5-pg16
	mkiii-manual-a5-pg17
	mkiii-manual-a5-pg18
	mkiii-manual-a5-pg19
	mkiii-manual-a5-pg20
	mkiii-manual-a5-pg21
	mkiii-manual-a5-pg22

